
1 вариант 

1.Запиши столбиком и вычисли. 

2800 * 5                      32000 * 3                          5600 * 6 

675 * 4                        6008 * 7                             91005 * 3 

 

2.Расставь порядок действий и реши в столбик. 

60 000 – (6 384 – 2 927) * 5 

9 368 + 6 * (657 : 8)  

 

3.Реши уравнения. 

Х : 6 = 65213 – 7684 

7862 + у =654 * 70 

 

 

 

 

 

 

 

 

 

2 вариант 

 

1.Запиши столбиком и вычисли. 

3400 * 6                     42000 * 5                          7300 * 6 

589 * 4                        5009 * 7                             82006 * 8 

 

2.Расставь порядок действий и реши в столбик. 

70 000 – (5 893 – 2 749) * 6 

8 459 + 7 * (536 : 8)  

 

3.Реши уравнения. 

у : 4 = 47606 – 4599 

6578 + х =857 * 80 

 

 

 

 

 


